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1) DO NOT OPEN THIS PAPER UNTIL YOU ARE TOLD TO DO SO
2) ANSWER ALL THREE QUESTIONS
3) ANSWER EACH QUESTION ON A SEPARATE SHEET OF PAPER



QUESTION 1 A

INSTRUCTIONS: Write the alphabet corresponding to your answer only in your
answer sheet

1. Which of the following sociologist has a sociologist coined the concept social
conflict
A. Emile Durkheim
B. Karl Marx
C. Marx Weber
D. Talcott Parsons

2. Celiphones, laptops, computers are examples of which culture
A. Technology
B. Non — material
C. Material
D. White race

3. The term “cultural lag” refers to the fact that;
A. Rate of cultural change is slowing
B. Some societies advance faster than others
C. Some individuals are more cultured than others
D. Some cultural elements change more quickly than others

4. Which of the following is the function of socialization in the family?
I) Regulation of sexual activity
11} Social placement of children
) Socialization of children
IV) Acquire appropriate behaviour patterns and social deviance
A DN&IV
B. )
C. ), 1), 1H
D. None of the above

5. Mr Gwebu phones Zenzi one of the sexual workers he is acquainted to. What
type of a sex worker is Zenzi;
A. Gigolo
B. Brothel
C. Call girl
D. Street walker



6. One of the following is a type of conscious social control;
A. Traditions
B. Norms
C. Laws
D. Values

7. The following represent a dominant family EXCEPT;
A. A family of procreation
B. A family of orientation
C. A single family
D. A family of origin

8. All except one are types of marriage,
A. Polyandry
B. Polygamy
C. Polyadry
D. Polygyny

9. Macro - level social control includes all EXCEPT;
A. Reprimanding
B. Demotion
C. Fining
D. Imprisonment

10.All are reasons for addiction EXCEPT;
A. Peer pressure
B. Role conflict
C. Role change
D. Role set {10 marks)

QUESTION 1 B TRUE OR FALSE QUESTIONS
WRITE T OR F FOR YOUR ANSWERS

11.Research indicates that there is a psychological difference between a rapist and a
non-rapist

.................................................................................................... T.F.
12.0ne (1) latent function of culture is establishing social refationships and

1= 4o €= S O T.F.
13. A nuclear family is limited to one (1) generation of a mother, father and child or

(o7 g 11 1= o T S O PSP T.F
14. The general process of acquiring culture is not referred to as

SOCIAlIZAtION. .. ..o e T.F
15.Non material culture is formed by formal and non-formal norms.................. T.F

(5 marks)



QUESTION1 C

Classify the following statements under repressive or participatory Socialization

1.

© ® N o 0o b~ 0 DN

Punishing wrong behavior

Family as significant other
Material rewards and punishment
Obedience of child

Non-verbal communication
Rewarding good behavior
Symbolic rewards and punishment
Autonomy of child

Verbal communication

10.Family as generalized other (10 marks)

(25 MARKS)

QUESTION 2

What are the three (3) social drivers of health? (3 marks)

Can nursing survive without socialization? Give five (5) reasons for your answer
(5 marks)

Determine if nurses are a quasi or social group? Give four (4) reasons for your
answer?

(5 marks)

Give five (5) ideas on culturally appropriate nursing care.
(5 marks)

What are the four (4) characteristics of a silent family you would encounter in a
hospital setting?
(4 marks)



. What is the functionalist view of the sick role? Give three (3) responses
(3 marks)

(25 MARKS)

QUESTION 3

. What are the basic characteristics/features of a primary group? State 5 features
(5 marks)

. Mention ten (10) characteristics of a dysfunctional family?
(10 marks)

. Fanana has been amputated his left leg and admitted in a surgical ward.
Determine five (5) aspects on how he lost his independence.
(5 marks)

. Some theorists argue that social control is necessary in a society. State five (5)
reasons social control is needed?

(5 marks)

(25 MARKS)

GRAND TOTAL = (75 MARKS)



